
 
 
 
 

 

 

 

PROGRESSIVE SERVICES, INC. D.B.A PROGRESSIVE ROOFING 
23 North 35th Avenue     Phoenix, AZ  85009 

(602) 278-4900     fax (602) 278-6896 
 

MEMBER
NATIONAL
ROOFING
CONTRACTORS
ASSOCIATIONSPROGRESSIVE ROOFING 

                  
  

NAIPTA DOWNTOWN CONNECT CENTER 

 
216 W. Phoenix Ave Flagstaff, AZ 86001 

 

SHOP DRAWINGS 
 

 

SYSTEM: Bilco                                                                                                                    page no. 

Shop Drawings  ...................................................................................................................................................... 2 
 

 
 
 
 
 

 



DOWNTOWN CONNECTION CENTERPROJECT:
JOBSITE ADDRESS: 216 WEST PHOENIX, FLAGSTAFF, AZ 86001

HDR ARCHITECTURE, INC.ARCHITECT:

PROGRESSIVE ROOFING PROJECT NUMBER: 5102-3-043

(12/14/2023)
SHOP DRAWING SUBMITTAL

CONTRACTOR: LOVEN CONTRACTING

FLAGSTAFF
ROUTE 66

W PHOENIX AVE

S 
M

IL
TO

N 
RD

/R
O

UT
E 

66

216 W. PHOENIX AVE
FLAGSTAFF, AZ 86001

N.T.S.

1
2
3
4

CHECKED

PROJ. MAN.

DRAWN

NO. REVISION / ISSUE DATE

PROJECT #

SCALE
AS SHOWN

SHEET

5
6

PR
O

G
R

ES
SI

VE
 R

O
O

FI
N

G
23

 N
or

th
 3

5t
h 

Av
en

ue
Ph

oe
ni

x 
AZ

  8
50

09
Ph

on
e 

 (6
02

) 2
78

-4
90

0

CS

PR
O

JE
C

T 
AD

D
R

ES
S

C
O

N
TR

AC
TO

R
:

AR
C

H
IT

EC
T:

FL
AG

ST
AF

F,
 A

Z 
86

00
1

21
6 

W
ES

T 
PH

O
EN

IX
 A

VE
.

PATTY P.

TONYA K.

H
D

R
 A

R
C

H
IT

EC
TU

R
E,

 IN
C

.

5102-3-043

M
O

U
N

TA
IN

 L
IN

E 
D

O
W

N
TO

W
N

LO
VE

N
 C

O
N

TR
AC

TI
N

G

C
O

N
N

EC
TI

O
N

 C
EN

TE
R



SYSTEM DESCRIPTION GENERAL NOTES

APPROVER NOTE:
 THE GENERAL CONTRACTOR AND ARCHITECT ARE RESPONSIBLE
FOR REVIEWING SHOP DRAWINGS FOR COMPLIANCE WITH THE
INFORMATION GIVEN ON THE CONTRACT DOCUMENTS. DETAILS
SHOWN MAY DEVIATE FROM THE CONTRACT DOCUMENTS DUE TO
FABRICATION LIMITATIONS, PROVEN WEATHERTIGHTNESS
TECHNIQUES OR WARRANTY REQUIREMENTS BY THE
MANUFACTURER / INSTALLER. RETURNED SHOP DRAWINGS STAMPED
"REVIEWED" ARE UNDERSTOOD TO BE ACCEPTABLE BY THE GENERAL
CONTRACTOR AND ARCHITECT.

1. DO NOT SCALE SHOP DRAWINGS.
2. OIL CANNING OF ROOFING & SIDING MATERIAL IS AN INHERENT

PROPERTY OF LIGHT GAUGE  MATERIAL, NOT A  DEFECT, AND IS
NOT CAUSE FOR REJECTION.

3. ALL DIMENSIONS TO BE FIELD VERIFIED.

CONCRETE MASONRY UNIT
S.S.

I.C.

O.S.

EXT.
INT.

A.F.F.
B.O.

ELEV.

GA.

T.O.

ABBREVIATIONS
OUTSIDE

ABOVE FINISH FLOOR
BOTTOM OF

GAUGE

ELEVATION
INSIDE CORNER

INTERIOR
EXTERIOR

TOP OF

STAINLESS STEEL
C.M.U.

WITH
EXPANSION JOINT
SPLICE PLATE

GYPSUM
NEOPRENE
TUBE STEEL

INSULATION

DRY FILM THICKNESS

GYP.
NEO.

DFT
T.S.

INSUL.
W /

S.P.
E.J.

GALVANIZEDGALV.

OUTSIDE CORNERO.C.
BUILT-UP ROOFB.U.R.

I.S. INSIDE

DOWNSPOUTD.S.
FIELD VERIFYF.V.

24G-01-5678

FLASHING DESIGNATION

MILLIMETERS
N
M

G
Z

INCHES

GAUGE
OUNCES

EMBOSSED
PERFORATED
STAINLESS STEELS

E
P

PIECE MARK
COLOR DESIGNATION (SEE COLOR LEGEND)
MATERIAL DESIGNATION (SEE ABOVE)
MATERIAL THICKNESS

MATCH LINE "C"
SEE: DRAWING A3

SECTION REFERENCE

ELEVATION REFERENCE

12'-0" A.F.F.
T.O. WALL

FASTENER
REFERENCE

MATERIAL
REFERENCE

1 C1

ELEVATION NUMBER

DRAWING NUMBER

SECTION NUMBER

DRAWING NUMBER

MATCH LINE REFERENCE

MATCH LETTER

DRAWING NUMBER

TARGET ELEVATION

ELEVATION

LOCATION

DETAIL NUMBER

DRAWING NUMBER
DETAIL REFERENCE

A
A1

B
A2

1
D1

MK. MATERIAL DESCRIPTIONQTY. PT. MK.

SHEET INDEX
COVER SHEET/SITE PLANCS
TITLE / NOTES / FASTENING SCHEDULESF1-F3
ROOF PLAN R1-R2

SYMBOL LEGEND

MATERIAL DESIGNATION
FASTENER DESCRIPTION

FASTENER DESIGNATION
MK. QTY. PT. MK.

M 0000 BUYOUT 30 MIL SELF-ADHERED HT UNDERLAYMENT SHARKSKIN ULTRA
1

2 0000 BUYOUT 1/8" RIVET

0000 BUYOUT #12 PANCAKE  HEAD TYPE A

3

S 0000 BUY OUT SEALANT TREMCO VULKEM 116 

P 0000 BUY OUT POLY-ISO ROOF INSULATION (R-42) - 2 LAYERS OF 3.6" AT ROOF

P2 0000 BUY OUT POLY-ISO WALL INSULATION - 2.00 INCHES IN WALL

Z 0000 BUY OUT 16 GA. Z-GIRT AT ROOF

Z1

FINISH FOR FASTENING SCHEDULE NO. 1:
COLOR TO BE DETERMINED.

FLASHING:
SAME MATERIAL AND FINISH AS ADJACENT SYSTEM
UNLESS NOTED OTHERWISE.

FASTENING SCHEDULE NO. 1:  T-GROOVE FLUSH
HORIZONTAL  WALL PANEL (WESTERN STATES METAL
ROOFING)
22 GA. T-GROOVE 1" DEEP x 12" WALL PANEL- (WESTERN
STATES METAL ROOFING)

COLOR: PRE-FINISHED
PANEL SYSTEM AS PROVIDED BY PROGRESSIVE ROOFING.

0000 BUYOUT #12-14 X 1" SELF DRILLER W/WASHER

0000 BUY OUT 18 GA. Z-GIRT AT WALL - 2.00 INCHES TALL

C

C2

T 0000 BUY OUT SFS - BUTYL SEALANT TAPE

0000 BUY OUT STANDING SEAM FLOATING  CLIP (WESTERN STATES)

0000 BUY OUT STANDING SEAM FIXED LOCK CLIP (WESTERN STATES)

D 0000 BUYOUT 5/8"  4 X 8 CDX TREATED PLYWOOD

4 0000 BUYOUT #12 X 2" PANCAKEHEAD HEAD SD2

5 0000 BUYOUT ZINC NAILIN TERMINATION FASTENER ZNI

FINISH FOR FASTENING SCHEDULE NO. 2:
COLOR TO BE DETERMINED.

FLASHING:
SAME MATERIAL AND FINISH AS ADJACENT SYSTEM
UNLESS NOTED OTHERWISE.

FASTENING SCHEDULE NO. 2:  MS-2 180° STANDING SEAM
ROOF PANEL SYSTEM (WESTERN STATES METAL ROOFING)
24 GA x 2" HIGH x 18" WIDE MS-2 STANDING SEAM -
(WESTERN STATES METAL ROOFING)

COLOR: PRE-FINISHED
PANEL SYSTEM AS PROVIDED BY PROGRESSIVE ROOFING.

6 0000 BUYOUT 1/4" - 14 X 7/8" LAP SCREW

ELEVATIONS E1-E3
BUILDING SECTIONSB1-B2
WALL SECTIONSW1-W2
DETAILSD1-D15

1
2
3
4

CHECKED

PROJ. MAN.

DRAWN

NO. REVISION / ISSUE DATE

PROJECT #

SCALE
AS SHOWN

SHEET

5
6

PR
O

G
R

ES
SI

VE
 R

O
O

FI
N

G
23

 N
or

th
 3

5t
h 

Av
en

ue
Ph

oe
ni

x 
AZ

  8
50

09
Ph

on
e 

 (6
02

) 2
78

-4
90

0

F1

PR
O

JE
C

T 
AD

D
R

ES
S

C
O

N
TR

AC
TO

R
:

AR
C

H
IT

EC
T:

FL
AG

ST
AF

F,
 A

Z 
86

00
1

21
6 

W
ES

T 
PH

O
EN

IX
 A

VE
.

PATTY P.

TONYA K.

H
D

R
 A

R
C

H
IT

EC
TU

R
E,

 IN
C

.

5102-3-043

M
O

U
N

TA
IN

 L
IN

E 
D

O
W

N
TO

W
N

LO
VE

N
 C

O
N

TR
AC

TI
N

G

C
O

N
N

EC
TI

O
N

 C
EN

TE
R



SECTION A-A

IN
ST

AL
LA

TI
O

N
 D

IR
EC

TI
O

N

2"
POLY-ISO

1"
PANEL

22 GA. T-GROOVE  FLUSH
HORZ. WALL PANELS
(WESTERN STATES)

PRE-FINISHED
3

1

M

P2

Z1@ 48" O.C.

FASTENING SCHEDULE #1:   
T-GROOVE 22 GA. FLUSH HORIZONTAL WALL PANEL SYSTEM

 (WESTERN STATES METAL ROOFING)

1"
PA

N
EL

D
EP

TH

SHARKSKIN ULTRA
SELF-ADHERED
UNDERLAYMENT

M1
#12 x 1" PANCAKE

HEAD TYPE A 22 GA. T-GROOVE  FLUSH
HORIZONTAL WALL PANEL
PRE-FINISHED

BY OTHERS

12"

7/
8" 33/64"

23
/3

2"

7/
8"

1"

1/2"

1 3/8"

1/2"

T-GROOVE PANEL
(WESTERN STATES METAL ROOFING)

Z1 @48" O.C.P2 3
1/4" - 14 X 7/8"

LAP SCREW

1
2
3
4

CHECKED

PROJ. MAN.

DRAWN

NO. REVISION / ISSUE DATE

PROJECT #

SCALE
AS SHOWN

SHEET

5
6

PR
O

G
R

ES
SI

VE
 R

O
O

FI
N

G
23

 N
or

th
 3

5t
h 

Av
en

ue
Ph

oe
ni

x 
AZ

  8
50

09
Ph

on
e 

 (6
02

) 2
78

-4
90

0

F2

PR
O

JE
C

T 
AD

D
R

ES
S

C
O

N
TR

AC
TO

R
:

AR
C

H
IT

EC
T:

FL
AG

ST
AF

F,
 A

Z 
86

00
1

21
6 

W
ES

T 
PH

O
EN

IX
 A

VE
.

PATTY P.

TONYA K.

H
D

R
 A

R
C

H
IT

EC
TU

R
E,

 IN
C

.

5102-3-043

M
O

U
N

TA
IN

 L
IN

E 
D

O
W

N
TO

W
N

LO
VE

N
 C

O
N

TR
AC

TI
N

G

C
O

N
N

EC
TI

O
N

 C
EN

TE
R

ISO. T-GROOVE 22 GA. FLUSH HORIZONTAL
WALL PANEL ASSEMBLY

(WESTERN STATES METAL ROOFING)
N.T.S.

12
"

PA
N

EL

IN
ST

AL
LA

TI
O

N
 D

IR
EC

TI
O

N

1"
PANEL

12
"

PA
N

EL
12

"
PA

N
EL

AutoCAD SHX Text
A

AutoCAD SHX Text
A



SECTION B-B
TYPICAL ROOF PANEL

FASTENING SCHEDULE #2 - MS2 @ 180° STANDING SEAM (WESTERN STATES) :

4"

2"

1/2"1/2"

1 
3/

8"

2 
5/

16
"

1 
7/

16
"

15/16"
13

/1
6"

2"

2 
5/

16
"

1"1"

1 
3/

8"

4"

1 
7/

16
"

1 13/16"

1'-6" COVERAGE

11/16" 7/
16

"

2"

7/8"

13/16" 1/
2"

1/
16

"

7/8"

RIGHTLEFT

2"
PA

N
EL

D
EP

TH M

P

D

C

1 #10-12 X 1" PANCAKE HEAD
FASTENER

1'-6"
COVERAGE

30 MIL SHARKSKIN ULTRA
SA UNDERLAYMENT

RIGID POLYISOCYANURATE
INSULATION (2 LAYERS OF 3.6")

STANDING SEAM FLOATING
CLIP (WESTERN STATES)

MS2 PANEL HEMMED
AND SEAMED (180° SEAM)

2"

PAN
EL

ROOF DECK, BY OTHERS

M

P

D

30 MIL SHARKSKIN ULTRA SA
UNDERLAYMENT

RIGID POLYISOCYANURATE
INSULATION (2 LAYERS
OF 3.6")C

1

24" O.C.

MAX. SPACING

5/
8"

TR
EA

TE
D

PL
YW

O
O

D

24 GA. MS2 STANDING
SEAM PANEL @ 18" O.C.

(WESTERN STATES)
PRE-FINISHED

24 GA. MS2 STANDING
SEAM PANEL @ 18" O.C.

(WESTERN STATES)
PREFINISHED #10-12 X 1"

PANCAKE HEAD
FASTENER

STANDING SEAM
FLOATING  CLIP
(WESTERN STATES)

3.
6"

PO
LY

-IS
O

3.
6"

PO
LY

-IS
O

4

5/8"  4 X 8 CDX TREATED
PLYWOOD

#12 X 2" PANCAKEHEAD HEAD SD2

3.6"

PO
LY-ISO

3.6"

PO
LY-ISO

5/8"

TR
EATED

PLYW
O

O
DZ16 GA. Z-GIRT AT ROOF

Z 16 GA. Z-GIRT AT ROOF

#12 X 2" PANCAKEHEAD HEAD SD24

5/8"  4 X 8 CDX TREATED
PLYWOOD

1
2
3
4

CHECKED

PROJ. MAN.

DRAWN

NO. REVISION / ISSUE DATE

PROJECT #

SCALE
AS SHOWN

SHEET

5
6

PR
O

G
R

ES
SI

VE
 R

O
O

FI
N

G
23

 N
or

th
 3

5t
h 

Av
en

ue
Ph

oe
ni

x 
AZ

  8
50

09
Ph

on
e 

 (6
02

) 2
78

-4
90

0

F3

PR
O

JE
C

T 
AD

D
R

ES
S

C
O

N
TR

AC
TO

R
:

AR
C

H
IT

EC
T:

FL
AG

ST
AF

F,
 A

Z 
86

00
1

21
6 

W
ES

T 
PH

O
EN

IX
 A

VE
.

PATTY P.

TONYA K.

H
D

R
 A

R
C

H
IT

EC
TU

R
E,

 IN
C

.

5102-3-043

M
O

U
N

TA
IN

 L
IN

E 
D

O
W

N
TO

W
N

LO
VE

N
 C

O
N

TR
AC

TI
N

G

C
O

N
N

EC
TI

O
N

 C
EN

TE
R

ISO. MS2 STANDING SEAM WITH PANEL
FLOATING CLIPS

(WESTERN STATES)
N.T.S.

MS2 @ 180°
STANDING SEAM PANEL
(WESTERN STATES)
COLOR: COLONIAL RED

CMS2 PANEL CLIP
(FLOATING CLIP)

ISO. MS2 STANDING SEAM WITH PANEL
FIXED CLIPS

(WESTERN STATES)
N.T.S.

MS2 @ 180°
STANDING SEAM PANEL
(WESTERN STATES)
PRE-FINISHED

C2MS2 PANEL CLIP
(FIXED CLIP)

FIXED CLIP AT TOP
OF ROOF PANEL

18" WIDE PANEL TYP.

ISO. MS2 180°STANDING SEAM ROOF PANEL
(WESTERN STATES)

PRE-FINISHED
N.T.S.

2"
PA

NE
L

HE
IG

HT

AutoCAD SHX Text
B

AutoCAD SHX Text
B



10
'-0

"

3'-8"

1 1.1 1.2 1.7 2 3 4 5 6 7

A

B

C

D

D.1

E

F

G

H

J

10
'-0

"
10

'-0
"

10
'-0

"
28

'-0
"

99
'-4

"
10

'-0
"

21
'-4

"

53'-0" 20'-0" 20'-0"

148'-0"

30'-0" 21'-4"

1/
4"

 / 
1'

-0
"

1/4" / 1'-0"

1/
4"

 / 
1'

-0
"

1/
4"

 / 
1'

-0
"

1/4" / 1'-0"

1" / 1'-0"

1" / 1'-0"

1" / 1'-0"

NORTH
SCALE: =
ROOF PLAN

N.T.S.         ARCH. REF.= A-113

SOLATUBE

98'-5"±
F.V.

34
'-6

"±
F.

V.
12

'-1
1"

±
F.

V.
,

C
O

PI
N

G
C

AP
19

'-0
"±

F.
V.

24 GA MS2 STANDING SEAM
(WESTERN STATES)

PRE-FINISHED

1
E1

1
E2

1
E3

2
E3

10'-1"±
F.V.,

COPING CAP

1
B1

1
B1

2
B1

2
B1

1
D1

1
D13

29'-1"±
F.V.

81
'-5

"±
F.

V.

8'-7"±
F.V.

38
'-0

"±
F.

V.

4'
-1

0"
±

F.
V.

13
'-5

"±
F.

V.
9'

-6
"±

F.
V.

1
D2

103'-8"±
F.V.

1
D1

1
D2

47
'-6

"±
F.

V.
, C

O
PI

N
G

 C
AP

37'-5"±
F.V., COPING CAP

62
'-9

"±
F.

V.
, C

O
PI

N
G

 C
AP

50'-2"±
F.V., COPING CAP

50'-2"±
F.V., COPING CAP

1
D2

1
D2

1
2
3
4

CHECKED

PROJ. MAN.

DRAWN

NO. REVISION / ISSUE DATE

PROJECT #

SCALE
AS SHOWN

SHEET

5
6

PR
O

G
R

ES
SI

VE
 R

O
O

FI
N

G
23

 N
or

th
 3

5t
h 

Av
en

ue
Ph

oe
ni

x 
AZ

  8
50

09
Ph

on
e 

 (6
02

) 2
78

-4
90

0

R1

PR
O

JE
C

T 
AD

D
R

ES
S

C
O

N
TR

AC
TO

R
:

AR
C

H
IT

EC
T:

FL
AG

ST
AF

F,
 A

Z 
86

00
1

21
6 

W
ES

T 
PH

O
EN

IX
 A

VE
.

PATTY P.

TONYA K.

H
D

R
 A

R
C

H
IT

EC
TU

R
E,

 IN
C

.

5102-3-043

M
O

U
N

TA
IN

 L
IN

E 
D

O
W

N
TO

W
N

LO
VE

N
 C

O
N

TR
AC

TI
N

G

C
O

N
N

EC
TI

O
N

 C
EN

TE
R



10
'-0

"
3'-8"

10
'-0

"
10

'-0
"

10
'-0

"
28

'-0
"

99
'-4

"
10

'-0
"

21
'-4

"
53'-0" 20'-0" 20'-0"

148'-0"

30'-0" 21'-4"

NORTH
SCALE: =
FLOOR PLAN LEVEL 2

N.T.S.         ARCH. REF.= A-112

1 1.1 1.2 1.7 2 3 4 5 6 7

A

B

C

D

D.1

E

F

G

H

J

1
D2

46
'-1

0"
±

F.
V.

, C
O

PI
N

G
 C

AP

36'-10"±
F.V., COPING CAP

1
D1

1
E1

1
E3

1
B1

1
B1

2
B1

2
B1

15
'-1

1"
±

F.
V.

,
C

O
PI

N
G

 C
AP

1
D15

1
2
3
4

CHECKED

PROJ. MAN.

DRAWN

NO. REVISION / ISSUE DATE

PROJECT #

SCALE
AS SHOWN

SHEET

5
6

PR
O

G
R

ES
SI

VE
 R

O
O

FI
N

G
23

 N
or

th
 3

5t
h 

Av
en

ue
Ph

oe
ni

x 
AZ

  8
50

09
Ph

on
e 

 (6
02

) 2
78

-4
90

0

R2

PR
O

JE
C

T 
AD

D
R

ES
S

C
O

N
TR

AC
TO

R
:

AR
C

H
IT

EC
T:

FL
AG

ST
AF

F,
 A

Z 
86

00
1

21
6 

W
ES

T 
PH

O
EN

IX
 A

VE
.

PATTY P.

TONYA K.

H
D

R
 A

R
C

H
IT

EC
TU

R
E,

 IN
C

.

5102-3-043

M
O

U
N

TA
IN

 L
IN

E 
D

O
W

N
TO

W
N

LO
VE

N
 C

O
N

TR
AC

TI
N

G

C
O

N
N

EC
TI

O
N

 C
EN

TE
R



E1
1

1
B1

1
B1

SOLA TUBE
D13

1
20'-11 3/4"±

F.V.
20'-11 3/4"±

F.V.1/2"
JOINT
 TYP12

"
TY

P.

2
D7

2
D4

1
D6

1
D6

MIRR

COPING CAP

COPING CAP

1
2
3
4

CHECKED

PROJ. MAN.

DRAWN

NO. REVISION / ISSUE DATE

PROJECT #

SCALE
AS SHOWN

SHEET

5
6

PR
O

G
R

ES
SI

VE
 R

O
O

FI
N

G
23

 N
or

th
 3

5t
h 

Av
en

ue
Ph

oe
ni

x 
AZ

  8
50

09
Ph

on
e 

 (6
02

) 2
78

-4
90

0

E1

PR
O

JE
C

T 
AD

D
R

ES
S

C
O

N
TR

AC
TO

R
:

AR
C

H
IT

EC
T:

FL
AG

ST
AF

F,
 A

Z 
86

00
1

21
6 

W
ES

T 
PH

O
EN

IX
 A

VE
.

PATTY P.

TONYA K.

H
D

R
 A

R
C

H
IT

EC
TU

R
E,

 IN
C

.

5102-3-043

M
O

U
N

TA
IN

 L
IN

E 
D

O
W

N
TO

W
N

LO
VE

N
 C

O
N

TR
AC

TI
N

G

C
O

N
N

EC
TI

O
N

 C
EN

TE
R



E2
1

1
B2

1
B2

22 GA. T-GROOVE
WALL PANELS

(WESTERN STATES)
PRE-FINISHED

2
B2

2
B2

SOLA TUBE

D13
1

2
D4

1
D5

1
D6

1
D6

MIRR

1
D7

2
D6

2
D6

12
"

TY
P.

18'-2"±
F.V.

18'-2"±
F.V.

12'-11"±
F.V.

1'-11"±
F.V.

18'-2"±
F.V.

18'-2"±
F.V.

18'-2"±
F.V.

17'-9"±
F.V.

1/2"
JOINT
 TYP

12
"

TY
P.

1
2
3
4

CHECKED

PROJ. MAN.

DRAWN

NO. REVISION / ISSUE DATE

PROJECT #

SCALE
AS SHOWN

SHEET

5
6

PR
O

G
R

ES
SI

VE
 R

O
O

FI
N

G
23

 N
or

th
 3

5t
h 

Av
en

ue
Ph

oe
ni

x 
AZ

  8
50

09
Ph

on
e 

 (6
02

) 2
78

-4
90

0

E2

PR
O

JE
C

T 
AD

D
R

ES
S

C
O

N
TR

AC
TO

R
:

AR
C

H
IT

EC
T:

FL
AG

ST
AF

F,
 A

Z 
86

00
1

21
6 

W
ES

T 
PH

O
EN

IX
 A

VE
.

PATTY P.

TONYA K.

H
D

R
 A

R
C

H
IT

EC
TU

R
E,

 IN
C

.

5102-3-043

M
O

U
N

TA
IN

 L
IN

E 
D

O
W

N
TO

W
N

LO
VE

N
 C

O
N

TR
AC

TI
N

G

C
O

N
N

EC
TI

O
N

 C
EN

TE
R



E3
1

1
B2

1
B2

22 GA. T-GROOVE
WALL PANELS
(WESTERN STATES)
PRE-FINISHED

24 GA MS2 STANDING SEAM
(WESTERN STATES)
PRE-FINISHED

1/2"
JOINT
 TYP

12
"

TY
P.

12'-0"±
F.V.

12'-0"±
F.V.

1'-8 1/2"±
F.V.

12'-0"±
F.V.

12'-0"±
F.V.

12'-0"±
F.V.

7 3/4"±
F.V.

2
D7

1
D7

SOLA TUBE

D13
1

1
D15

COPING
 CAP

COPING CAP

E3
2

1
B2

1
B2

22 GA. T-GROOVE
WALL PANELS

(WESTERN STATES)
PRE-FINISHED

2
D4

1
D5

1
D6

1
D6

MIRR

1
D7

2
D6

14'-2"±
F.V.

14'-2"±
F.V.

15'-10"±
F.V.

12
"

TY
P.

12
"

TY
P.

COPING CAP

1
2
3
4

CHECKED

PROJ. MAN.

DRAWN

NO. REVISION / ISSUE DATE

PROJECT #

SCALE
AS SHOWN

SHEET

5
6

PR
O

G
R

ES
SI

VE
 R

O
O

FI
N

G
23

 N
or

th
 3

5t
h 

Av
en

ue
Ph

oe
ni

x 
AZ

  8
50

09
Ph

on
e 

 (6
02

) 2
78

-4
90

0

E3

PR
O

JE
C

T 
AD

D
R

ES
S

C
O

N
TR

AC
TO

R
:

AR
C

H
IT

EC
T:

FL
AG

ST
AF

F,
 A

Z 
86

00
1

21
6 

W
ES

T 
PH

O
EN

IX
 A

VE
.

PATTY P.

TONYA K.

H
D

R
 A

R
C

H
IT

EC
TU

R
E,

 IN
C

.

5102-3-043

M
O

U
N

TA
IN

 L
IN

E 
D

O
W

N
TO

W
N

LO
VE

N
 C

O
N

TR
AC

TI
N

G

C
O

N
N

EC
TI

O
N

 C
EN

TE
R



B1
1

24 GA MS2 STANDING SEAM
(WESTERN STATES)
PRE-FINISHED

COPING CAP
PRE-FINISHED

2
D3

4
W1

1
W2

22 GA. T-GROOVE
WALL PANELS

(WESTERN STATES)
PRE-FINISHED

24 GA MS2 STANDING SEAM
(WESTERN STATES)
PRE-FINISHED

 22 GA. T-GROOVE WALL PANELS
(WESTERN STATES)
PRE-FINISHED

B1
2

W1
3 COPING CAP

PRE-FINISHED

22 GA. T-GROOVE
WALL PANELS

(WESTERN STATES)
PRE-FINISHED

1
2
3
4

CHECKED

PROJ. MAN.

DRAWN

NO. REVISION / ISSUE DATE

PROJECT #

SCALE
AS SHOWN

SHEET

5
6

PR
O

G
R

ES
SI

VE
 R

O
O

FI
N

G
23

 N
or

th
 3

5t
h 

Av
en

ue
Ph

oe
ni

x 
AZ

  8
50

09
Ph

on
e 

 (6
02

) 2
78

-4
90

0

B1

PR
O

JE
C

T 
AD

D
R

ES
S

C
O

N
TR

AC
TO

R
:

AR
C

H
IT

EC
T:

FL
AG

ST
AF

F,
 A

Z 
86

00
1

21
6 

W
ES

T 
PH

O
EN

IX
 A

VE
.

PATTY P.

TONYA K.

H
D

R
 A

R
C

H
IT

EC
TU

R
E,

 IN
C

.

5102-3-043

M
O

U
N

TA
IN

 L
IN

E 
D

O
W

N
TO

W
N

LO
VE

N
 C

O
N

TR
AC

TI
N

G

C
O

N
N

EC
TI

O
N

 C
EN

TE
R



B2
1

W1
1

W1
2 24 GA MS2 STANDING SEAM

(WESTERN STATES)
PRE-FINISHED

 22 GA. T-GROOVE WALL PANELS
(WESTERN STATES)
PRE-FINISHED

22 GA. T-GROOVE
WALL PANELS

(WESTERN STATES)
PRE-FINISHED

SOLA TUBE
D13

1
24 GA. COPING CAP
PRE-FINISHED

24 GA MS2 STANDING SEAM
(WESTERN STATES)
PRE-FINISHED

W2
2

B2
2 1

2
3
4

CHECKED

PROJ. MAN.

DRAWN

NO. REVISION / ISSUE DATE

PROJECT #

SCALE
AS SHOWN

SHEET

5
6

PR
O

G
R

ES
SI

VE
 R

O
O

FI
N

G
23

 N
or

th
 3

5t
h 

Av
en

ue
Ph

oe
ni

x 
AZ

  8
50

09
Ph

on
e 

 (6
02

) 2
78

-4
90

0

B2

PR
O

JE
C

T 
AD

D
R

ES
S

C
O

N
TR

AC
TO

R
:

AR
C

H
IT

EC
T:

FL
AG

ST
AF

F,
 A

Z 
86

00
1

21
6 

W
ES

T 
PH

O
EN

IX
 A

VE
.

PATTY P.

TONYA K.

H
D

R
 A

R
C

H
IT

EC
TU

R
E,

 IN
C

.

5102-3-043

M
O

U
N

TA
IN

 L
IN

E 
D

O
W

N
TO

W
N

LO
VE

N
 C

O
N

TR
AC

TI
N

G

C
O

N
N

EC
TI

O
N

 C
EN

TE
R



SCALE: =
1

W1
WALL SECTION

N.T.S.     ARCH. REF.=A2/A-314

24 GA MS2 STANDING SEAM
(WESTERN STATES)
PRE-FINISHED

T-GROOVE WALL PANELS
(WESTERN STATES)
PRE-FINISHED2

D5

1
D11

SCALE: =
2

W1
WALL SECTION

N.T.S.     ARCH. REF.=A3/A-314

1
D8

24 GA MS2 STANDING SEAM
(WESTERN STATES)
PRE-FINISHED

T-GROOVE WALL PANELS
(WESTERN STATES)

PRE-FINISHED

24 GA. GUTTER
PRE-FINISHED

2
D4

1
D5

SCALE: =
3

W1
WALL SECTION

N.T.S.     ARCH. REF.=A3/A-314

1
D3

1
D4

T-GROOVE WALL PANELS
(WESTERN STATES)

PRE-FINISHED

24 GA. COPING CAP
PRE-FINISHED

SCALE: =
4

W1
WALL SECTION

N.T.S.     ARCH. REF.=A4/A-312

T-GROOVE WALL PANELS
(WESTERN STATES)
PRE-FINISHED

24 GA MS2 STANDING SEAM
(WESTERN STATES)
PRE-FINISHED

2
D5

1
D12

SIM

1
2
3
4

CHECKED

PROJ. MAN.

DRAWN

NO. REVISION / ISSUE DATE

PROJECT #

SCALE
AS SHOWN

SHEET

5
6

PR
O

G
R

ES
SI

VE
 R

O
O

FI
N

G
23

 N
or

th
 3

5t
h 

Av
en

ue
Ph

oe
ni

x 
AZ

  8
50

09
Ph

on
e 

 (6
02

) 2
78

-4
90

0

W1

PR
O

JE
C

T 
AD

D
R

ES
S

C
O

N
TR

AC
TO

R
:

AR
C

H
IT

EC
T:

FL
AG

ST
AF

F,
 A

Z 
86

00
1

21
6 

W
ES

T 
PH

O
EN

IX
 A

VE
.

PATTY P.

TONYA K.

H
D

R
 A

R
C

H
IT

EC
TU

R
E,

 IN
C

.

5102-3-043

M
O

U
N

TA
IN

 L
IN

E 
D

O
W

N
TO

W
N

LO
VE

N
 C

O
N

TR
AC

TI
N

G

C
O

N
N

EC
TI

O
N

 C
EN

TE
R



SCALE: =
1

W2
WALL SECTION

N.T.S.     ARCH. REF.=A5/A-312

T-GROOVE WALL PANELS
(WESTERN STATES)

PRE-FINISHED

24 GA MS2 STANDING SEAM
(WESTERN STATES)
PRE-FINISHED

2
D4

1
D5

1
D12

SIM

SCALE: =
2

W2
WALL SECTION

N.T.S.     ARCH. REF.=A5/A-311

2
D4

1
D5

2
D6

1
D12

SIM

T-GROOVE WALL PANELS
(WESTERN STATES)

PRE-FINISHED

1
2
3
4

CHECKED

PROJ. MAN.

DRAWN

NO. REVISION / ISSUE DATE

PROJECT #

SCALE
AS SHOWN

SHEET

5
6

PR
O

G
R

ES
SI

VE
 R

O
O

FI
N

G
23

 N
or

th
 3

5t
h 

Av
en

ue
Ph

oe
ni

x 
AZ

  8
50

09
Ph

on
e 

 (6
02

) 2
78

-4
90

0

W2

PR
O

JE
C

T 
AD

D
R

ES
S

C
O

N
TR

AC
TO

R
:

AR
C

H
IT

EC
T:

FL
AG

ST
AF

F,
 A

Z 
86

00
1

21
6 

W
ES

T 
PH

O
EN

IX
 A

VE
.

PATTY P.

TONYA K.

H
D

R
 A

R
C

H
IT

EC
TU

R
E,

 IN
C

.

5102-3-043

M
O

U
N

TA
IN

 L
IN

E 
D

O
W

N
TO

W
N

LO
VE

N
 C

O
N

TR
AC

TI
N

G

C
O

N
N

EC
TI

O
N

 C
EN

TE
R



3/
4"

4"
C

O
PI

N
G

 C
AP

,
F.

V.
FIELD CRIMP

4"
C

O
PI

N
G

C
AP

, F
.V

.

COPING CAP
FIELD DIM

SLOPE

M

1

22 GA-10-FC
22 GA. GALV.

CONTINUOUS
FRONT CLEAT

24 GA-01-SPLICE
24 GA.  8" SPLICE

 PLATE AT ALL END
 JOINTS TYP.

24 GA-01-CAP
24 GA. COPING CAP,

PRE-FINISHED

22 GA-10-BC
22 GA. GALV.
CONTINUOUS
BACK CLEAT

@ 12" O.C.

N.T.S.
REF. ARCH. DET.
SCALE = L/F =

1
D1

COPING CAP AT MASONRY
C4/A-511

TBD

1"
M

IN
.

1
2
3
4

CHECKED

PROJ. MAN.

DRAWN

NO. REVISION / ISSUE DATE

PROJECT #

SCALE
AS SHOWN

SHEET

5
6

PR
O

G
R

ES
SI

VE
 R

O
O

FI
N

G
23

 N
or

th
 3

5t
h 

Av
en

ue
Ph

oe
ni

x 
AZ

  8
50

09
Ph

on
e 

 (6
02

) 2
78

-4
90

0

D1

PR
O

JE
C

T 
AD

D
R

ES
S

C
O

N
TR

AC
TO

R
:

AR
C

H
IT

EC
T:

FL
AG

ST
AF

F,
 A

Z 
86

00
1

21
6 

W
ES

T 
PH

O
EN

IX
 A

VE
.

PATTY P.

TONYA K.

H
D

R
 A

R
C

H
IT

EC
TU

R
E,

 IN
C

.

5102-3-043

M
O

U
N

TA
IN

 L
IN

E 
D

O
W

N
TO

W
N

LO
VE

N
 C

O
N

TR
AC

TI
N

G

C
O

N
N

EC
TI

O
N

 C
EN

TE
R

1

KEYNOTES:

#12 PANCAKE HEAD TYPE A

1/8" RIVET

#12-4 X 1" SELF DRILLER W/WASHER

#12 X 2" PANCAKE HEAD SD2

ZINC NAILIN TERMINATION FASTENER ZNI

1/4" - 14 X 7/8" LAP SCREW

30 MIL SELF-ADHERED HT
UNDERALYMENT SHARKSKIN ULTRA

SEALANT TREMCO VULKEM 116

POLY-ISO ROOF INSULATION (R-42) - 2
LAYERS OF 3.6" AT ROOF

POLY-ISO WALL INSULATION - 2.00
INCHES IN WALL

16 GA. Z-GIRT AT ROOF

18 GA.. Z-GIRT AT WALL - 2" TALL

STANDING SEAM FIXED LOCK CLIP
(WESTERN STATES)

STANDING SEAM FLOATING CLIP
(WESTERN STATES)

SFS-BUTYL SEALANT TAPE

5/8" 4 X 8 CDX TREATED PLYWOOD

2

M

S

P

P2

Z

Z1

3

4

5

6

C

C2

T

D

8"
SPLICE PLATE

BACK

SLOPE

2 BEADS OF SEALANT ON
EACH END OF SPLICE

PLATE, UNDER CAP FRONT

1/4" GAP

22 GA. GALV. CONTINUOUS
FRONT AND BACK CLEAT

S

ISO. OF PARAPET CAP
SPLICE @ 10'-0" +/- O.C.

N.T.S.
REF. ARCH. DET.
SCALE = L/F =

2
D1

ISO COPING CAP SPLICE DETAIL
TBD

22 GA. COPING CAP
PRE-FINISHED

NOTE: WOOD NAILER AND CMU,
BY OTHERS



N.T.S.
REF. ARCH. DET.
SCALE = L/F =

1
D2

OUTSIDE/INSIDE MITER
COPING CAP DETAILS

SLOPE
SLOPE

S

2

2"
TABS

2"
TABS

S

2

SLOPESLOPE

BACK

SEALANT BEAD
AT CORNER LAP

FRONT

SEALANT BEAD
AT CORNER LAP

1
2
3
4

CHECKED

PROJ. MAN.

DRAWN

NO. REVISION / ISSUE DATE

PROJECT #

SCALE
AS SHOWN

SHEET

5
6

PR
O

G
R

ES
SI

VE
 R

O
O

FI
N

G
23

 N
or

th
 3

5t
h 

Av
en

ue
Ph

oe
ni

x 
AZ

  8
50

09
Ph

on
e 

 (6
02

) 2
78

-4
90

0

D2

PR
O

JE
C

T 
AD

D
R

ES
S

C
O

N
TR

AC
TO

R
:

AR
C

H
IT

EC
T:

FL
AG

ST
AF

F,
 A

Z 
86

00
1

21
6 

W
ES

T 
PH

O
EN

IX
 A

VE
.

PATTY P.

TONYA K.

H
D

R
 A

R
C

H
IT

EC
TU

R
E,

 IN
C

.

5102-3-043

M
O

U
N

TA
IN

 L
IN

E 
D

O
W

N
TO

W
N

LO
VE

N
 C

O
N

TR
AC

TI
N

G

C
O

N
N

EC
TI

O
N

 C
EN

TE
R

1

KEYNOTES:

#12 PANCAKE HEAD TYPE A

1/8" RIVET

#12-4 X 1" SELF DRILLER W/WASHER

#12 X 2" PANCAKE HEAD SD2

ZINC NAILIN TERMINATION FASTENER ZNI

1/4" - 14 X 7/8" LAP SCREW

30 MIL SELF-ADHERED HT
UNDERALYMENT SHARKSKIN ULTRA

SEALANT TREMCO VULKEM 116

POLY-ISO ROOF INSULATION (R-42) - 2
LAYERS OF 3.6" AT ROOF

POLY-ISO WALL INSULATION - 2.00
INCHES IN WALL

16 GA. Z-GIRT AT ROOF

18 GA.. Z-GIRT AT WALL - 2" TALL

STANDING SEAM FIXED LOCK CLIP
(WESTERN STATES)

STANDING SEAM FLOATING CLIP
(WESTERN STATES)

SFS-BUTYL SEALANT TAPE

5/8" 4 X 8 CDX TREATED PLYWOOD

2

M

S

P

P2

Z

Z1

3

4

5

6

C

C2

T

D

NOTE: WOOD NAILER AND CMU,
BY OTHERS

BACK

FRONT

22 GA. COPING CAP
PRE-FINISHED

ISO. CORNER COPING CAPS
N.T.S.

SLOPE

SLOPE



4"
C

O
PI

N
G

C
AP

, F
.V

.

22 GA-10-FC
22 GA. GALV.

CONTINUOUS
FRONT CLEAT

24 GA-01-SPLICE
24 GA.  8" SPLICE

 PLATE AT ALL END
 JOINTS TYP.

24 GA-01-CAP
24 GA. COPING CAP,

PRE-FINISHED

3/
4"

4"
C

O
PI

N
G

 C
AP

,
F.

V.

FIELD CRIMP

M

1

22 GA-10-BC
22 GA. GALV.
CONTINUOUS
BACK CLEAT

@ 12" O.C.

1"
M

IN
.

SLOPE

COPING CAP
FIELD DIM

N.T.S.
REF. ARCH. DET.
SCALE = L/F =

2
D3

COPING CAP AT STONE VENEER
D4/A-511

TBD

Z1@ 48" O.C.

2

ZEE SUPPORT

1"
PANEL

IN
ST

AL
LA

TI
O

N
 D

IR
EC

TI
O

N

1

22 GA. T-GROOVE  FLUSH
HORZ. WALL PANELS
(WESTERN STATES)

PRE-FINISHED

P2

4"
C

O
PI

N
G

C
AP

, F
.V

.

22 GA-10-FC
22 GA. GALV.

CONTINUOUS
FRONT CLEAT

24 GA-01-SPLICE
24 GA.  8" SPLICE

 PLATE AT ALL END
 JOINTS TYP.

24 GA-01-CAP
24 GA. COPING CAP,

PRE-FINISHED

COPING CAP
FIELD DIM

3/
4"

4"
C

O
PI

N
G

 C
AP

,
F.

V.
FIELD CRIMP

M

1

22 GA-10-BC
22 GA. GALV.
CONTINUOUS
BACK CLEAT

@ 12" O.C.

1"
M

IN
.

N.T.S.
REF. ARCH. DET.
SCALE = L/F =

1
D3

COPING CAP AT METAL PANEL
D5/A-511

TBD

M

2"
POLY-ISO

1"

1 1/4"

1 1/4"

 ZEE SUPPORT

3

1
2
3
4

CHECKED

PROJ. MAN.

DRAWN

NO. REVISION / ISSUE DATE

PROJECT #

SCALE
AS SHOWN

SHEET

5
6

PR
O

G
R

ES
SI

VE
 R

O
O

FI
N

G
23

 N
or

th
 3

5t
h 

Av
en

ue
Ph

oe
ni

x 
AZ

  8
50

09
Ph

on
e 

 (6
02

) 2
78

-4
90

0

D3

PR
O

JE
C

T 
AD

D
R

ES
S

C
O

N
TR

AC
TO

R
:

AR
C

H
IT

EC
T:

FL
AG

ST
AF

F,
 A

Z 
86

00
1

21
6 

W
ES

T 
PH

O
EN

IX
 A

VE
.

PATTY P.

TONYA K.

H
D

R
 A

R
C

H
IT

EC
TU

R
E,

 IN
C

.

5102-3-043

M
O

U
N

TA
IN

 L
IN

E 
D

O
W

N
TO

W
N

LO
VE

N
 C

O
N

TR
AC

TI
N

G

C
O

N
N

EC
TI

O
N

 C
EN

TE
R

1

KEYNOTES:

#12 PANCAKE HEAD TYPE A

1/8" RIVET

#12-4 X 1" SELF DRILLER W/WASHER

#12 X 2" PANCAKE HEAD SD2

ZINC NAILIN TERMINATION FASTENER ZNI

1/4" - 14 X 7/8" LAP SCREW

30 MIL SELF-ADHERED HT
UNDERALYMENT SHARKSKIN ULTRA

SEALANT TREMCO VULKEM 116

POLY-ISO ROOF INSULATION (R-42) - 2
LAYERS OF 3.6" AT ROOF

POLY-ISO WALL INSULATION - 2.00
INCHES IN WALL

16 GA. Z-GIRT AT ROOF

18 GA.. Z-GIRT AT WALL - 2" TALL

STANDING SEAM FIXED LOCK CLIP
(WESTERN STATES)

STANDING SEAM FLOATING CLIP
(WESTERN STATES)

SFS-BUTYL SEALANT TAPE

5/8" 4 X 8 CDX TREATED PLYWOOD

2

M

S

P

P2

Z

Z1

3

4

5

6

C

C2

T

D

NOTE: WOOD NAILER, STONE
VENEER,  AND CMU, BY OTHERS



IN
ST

AL
LA

TI
O

N
 D

IR
EC

TI
O

N

P2

M

2"
POLY-ISO

1"
PANEL

 DETAIL -A-
24 GA TRIM

COLOR: PRE-FINISHED
TO MATCH PANELS

1"
F.V.

2" F.
V.

1/
2" CLOSED

HEM

2

22 GA. T-GROOVE  FLUSH
HORZ. WALL PANELS
(WESTERN STATES)

PRE-FINISHED

24 GA. TRIM,
PRE-FINISHED

SEE DETAIL -A-

N.T.S.
REF. ARCH. DET.
SCALE = L/F =

1
D4

METAL PANEL SECTION
DETAIL @ HM DOOR HEAD

C4/A-501
TBD

24 GA. DRIP EDGE,
PRE-FINISHED

SEE DETAIL -B-

2" F.
V.

4" F.
V.

3 3/8"
F.V.

1/2
"

F.V.

 DETAIL -B-
24 GA DRIP EDGE

COLOR: PRE-FINISHED
TO MATCH PANELS

N.T.S.
REF. ARCH. DET.
SCALE = L/F =

2
D4

METAL PANEL SECTION
DETAIL @ CMU WINDOW HEAD

C2/A-501
TBD

3

1

IN
ST

AL
LA

TI
O

N
 D

IR
EC

TI
O

N

2"
POLY-ISO

1"
PANEL

2

22 GA. T-GROOVE  FLUSH
HORZ. WALL PANELS
(WESTERN STATES)

PRE-FINISHED

24 GA. TRIM,
PRE-FINISHED

SEE DETAIL -A-

24 GA. DRIP EDGE,
PRE-FINISHED

SEE DETAIL -B-

3

1

Z1@ 48" O.C.

M

P2

Z1@ 48" O.C.

1 1/4"

2"

1 1/4"

 DETAIL  -Z1-
18 GA. Z-GIRT

1
2
3
4

CHECKED

PROJ. MAN.

DRAWN

NO. REVISION / ISSUE DATE

PROJECT #

SCALE
AS SHOWN

SHEET

5
6

PR
O

G
R

ES
SI

VE
 R

O
O

FI
N

G
23

 N
or

th
 3

5t
h 

Av
en

ue
Ph

oe
ni

x 
AZ

  8
50

09
Ph

on
e 

 (6
02

) 2
78

-4
90

0

D4

PR
O

JE
C

T 
AD

D
R

ES
S

C
O

N
TR

AC
TO

R
:

AR
C

H
IT

EC
T:

FL
AG

ST
AF

F,
 A

Z 
86

00
1

21
6 

W
ES

T 
PH

O
EN

IX
 A

VE
.

PATTY P.

TONYA K.

H
D

R
 A

R
C

H
IT

EC
TU

R
E,

 IN
C

.

5102-3-043

M
O

U
N

TA
IN

 L
IN

E 
D

O
W

N
TO

W
N

LO
VE

N
 C

O
N

TR
AC

TI
N

G

C
O

N
N

EC
TI

O
N

 C
EN

TE
R

1

KEYNOTES:

#12 PANCAKE HEAD TYPE A

1/8" RIVET

#12-4 X 1" SELF DRILLER W/WASHER

#12 X 2" PANCAKE HEAD SD2

ZINC NAILIN TERMINATION FASTENER ZNI

1/4" - 14 X 7/8" LAP SCREW

30 MIL SELF-ADHERED HT
UNDERALYMENT SHARKSKIN ULTRA

SEALANT TREMCO VULKEM 116

POLY-ISO ROOF INSULATION (R-42) - 2
LAYERS OF 3.6" AT ROOF

POLY-ISO WALL INSULATION - 2.00
INCHES IN WALL

16 GA. Z-GIRT AT ROOF

18 GA.. Z-GIRT AT WALL - 2" TALL

STANDING SEAM FIXED LOCK CLIP
(WESTERN STATES)

STANDING SEAM FLOATING CLIP
(WESTERN STATES)

SFS-BUTYL SEALANT TAPE

5/8" 4 X 8 CDX TREATED PLYWOOD

2

M

S

P

P2

Z

Z1

3

4

5

6

C

C2

T

D

NOTE: METAL FRAME, STONE
VENEER,  AND CMU, BY OTHERS



IN
ST

AL
LA

TI
O

N
 D

IR
EC

TI
O

N

24 GA. TRIM,
PRE-FINISHED

SEE DETAIL -A- 2

1"
PANEL

22 GA. T-GROOVE  FLUSH
HORZ. WALL PANELS
(WESTERN STATES)

PRE-FINISHED

1/
2"

1/
2"

2" 5"

1"

1 1/4"

1 1/4"

 ZEE SUPPORT

ZEE SUPPORT

2"
POLY-ISO

 DETAIL -A-
24 GA TRIM

COLOR: PRE-FINISHED
TO MATCH PANELS

1"
F.V.

2" F.
V.

1/
2" CLOSED

HEM

N.T.S.
REF. ARCH. DET.
SCALE = L/F =

1
D5

METAL PANEL SECTION
DETAIL @ CMU WINDOW SILL

A2/A-501
TBD

M

IN
ST

AL
LA

TI
O

N
 D

IR
EC

TI
O

N

P2

M

1"
PANEL

2

22 GA. T-GROOVE  FLUSH
HORZ. WALL PANELS
(WESTERN STATES)
PRE-FINISHED

24 GA. TRIM,
PRE-FINISHED
SEE DETAIL -A-

24 GA. DRIP EDGE,
PRE-FINISHED
SEE DETAIL -B-

2"
POLY-ISO

N.T.S.
REF. ARCH. DET.
SCALE = L/F =

2
D5

PANEL WALL BASE @ ROOF
C3/A-501

TBD

3

3

 DETAIL -B-
24 GA DRIP EDGE

COLOR: PRE-FINISHED
TO MATCH PANELS

1

P2

Z1@ 48" O.C.

2" F.
V.

4" F.
V.

3 3/8"
F.V.

1/2
"

F.V.

M

1

P2

Z1 @ 48" O.C.

1 1/4"

2"

1 1/4"

 DETAIL  -Z1-
18 GA. Z-GIRT

1
2
3
4

CHECKED

PROJ. MAN.

DRAWN

NO. REVISION / ISSUE DATE

PROJECT #

SCALE
AS SHOWN

SHEET

5
6

PR
O

G
R

ES
SI

VE
 R

O
O

FI
N

G
23

 N
or

th
 3

5t
h 

Av
en

ue
Ph

oe
ni

x 
AZ

  8
50

09
Ph

on
e 

 (6
02

) 2
78

-4
90

0

D5

PR
O

JE
C

T 
AD

D
R

ES
S

C
O

N
TR

AC
TO

R
:

AR
C

H
IT

EC
T:

FL
AG

ST
AF

F,
 A

Z 
86

00
1

21
6 

W
ES

T 
PH

O
EN

IX
 A

VE
.

PATTY P.

TONYA K.

H
D

R
 A

R
C

H
IT

EC
TU

R
E,

 IN
C

.

5102-3-043

M
O

U
N

TA
IN

 L
IN

E 
D

O
W

N
TO

W
N

LO
VE

N
 C

O
N

TR
AC

TI
N

G

C
O

N
N

EC
TI

O
N

 C
EN

TE
R

1

KEYNOTES:

#12 PANCAKE HEAD TYPE A

1/8" RIVET

#12-4 X 1" SELF DRILLER W/WASHER

#12 X 2" PANCAKE HEAD SD2

ZINC NAILIN TERMINATION FASTENER ZNI

1/4" - 14 X 7/8" LAP SCREW

30 MIL SELF-ADHERED HT
UNDERALYMENT SHARKSKIN ULTRA

SEALANT TREMCO VULKEM 116

POLY-ISO ROOF INSULATION (R-42) - 2
LAYERS OF 3.6" AT ROOF

POLY-ISO WALL INSULATION - 2.00
INCHES IN WALL

16 GA. Z-GIRT AT ROOF

18 GA.. Z-GIRT AT WALL - 2" TALL

STANDING SEAM FIXED LOCK CLIP
(WESTERN STATES)

STANDING SEAM FLOATING CLIP
(WESTERN STATES)

SFS-BUTYL SEALANT TAPE

5/8" 4 X 8 CDX TREATED PLYWOOD

2

M

S

P

P2

Z

Z1

3

4

5

6

C

C2

T

D

NOTE: METAL FRAME, STONE
VENEER,  AND CMU, BY OTHERS



1"
PA

N
EL

2"
PO

LY
-IS

O

1/
2"

N.T.S.
REF. ARCH. DET.
SCALE = L/F =

1
D6

METAL PANEL PLAN 
DETAIL @ CMU WINDOW JAMB

B2/A-501
TBD

3" F.
V.

2"
F.V.

1/2"

1/
2"

 DETAIL -C-
24 GA L-TRIM

COLOR: PRE-FINISHED
TO MATCH PANELS

24 GA. L-TRIM,
PRE-FINISHED

SEE DETAIL -C-

2

22 GA. T-GROOVE
FLUSH HORZ. WALL
PANELS
(WESTERN
STATES)
PRE-FINISHED

P2

M

3

Z1 1

2

N.T.S.
REF. ARCH. DET.
SCALE = L/F =

2
D6

PANEL WALL BASE @ CMU
TBD

 DETAIL -A-
24 GA TRIM

COLOR: PRE-FINISHED
TO MATCH PANELS

1"
F.V.

2" F.
V.

1/
2" CLOSED

HEM

 DETAIL -B-
24 GA DRIP EDGE

COLOR: PRE-FINISHED
TO MATCH PANELS

2" F.
V.

4" F.
V.

3 3/8"
F.V.

1/2
"

F.V.

@48" O.C.

IN
ST

AL
LA

TI
O

N
 D

IR
EC

TI
O

N

P2

M

1"
PANEL

2

22 GA. T-GROOVE  FLUSH
HORZ. WALL PANELS
(WESTERN STATES)
PRE-FINISHED

24 GA. TRIM,
PRE-FINISHED
SEE DETAIL -A-

24 GA. DRIP EDGE,
PRE-FINISHED
SEE DETAIL -B-

2"
POLY-ISO

3

M

1

P2

Z1 @ 48" O.C.

1 1/4"

2"

1 1/4"

 DETAIL  -Z1-
18 GA. Z-GIRTCLOSED

HEM

CLOSED
HEM

1
2
3
4

CHECKED

PROJ. MAN.

DRAWN

NO. REVISION / ISSUE DATE

PROJECT #

SCALE
AS SHOWN

SHEET

5
6

PR
O

G
R

ES
SI

VE
 R

O
O

FI
N

G
23

 N
or

th
 3

5t
h 

Av
en

ue
Ph

oe
ni

x 
AZ

  8
50

09
Ph

on
e 

 (6
02

) 2
78

-4
90

0

D6

PR
O

JE
C

T 
AD

D
R

ES
S

C
O

N
TR

AC
TO

R
:

AR
C

H
IT

EC
T:

FL
AG

ST
AF

F,
 A

Z 
86

00
1

21
6 

W
ES

T 
PH

O
EN

IX
 A

VE
.

PATTY P.

TONYA K.

H
D

R
 A

R
C

H
IT

EC
TU

R
E,

 IN
C

.

5102-3-043

M
O

U
N

TA
IN

 L
IN

E 
D

O
W

N
TO

W
N

LO
VE

N
 C

O
N

TR
AC

TI
N

G

C
O

N
N

EC
TI

O
N

 C
EN

TE
R

1

KEYNOTES:

#12 PANCAKE HEAD TYPE A

1/8" RIVET

#12-4 X 1" SELF DRILLER W/WASHER

#12 X 2" PANCAKE HEAD SD2

ZINC NAILIN TERMINATION FASTENER ZNI

1/4" - 14 X 7/8" LAP SCREW

30 MIL SELF-ADHERED HT
UNDERALYMENT SHARKSKIN ULTRA

SEALANT TREMCO VULKEM 116

POLY-ISO ROOF INSULATION (R-42) - 2
LAYERS OF 3.6" AT ROOF

POLY-ISO WALL INSULATION - 2.00
INCHES IN WALL

16 GA. Z-GIRT AT ROOF

18 GA.. Z-GIRT AT WALL - 2" TALL

STANDING SEAM FIXED LOCK CLIP
(WESTERN STATES)

STANDING SEAM FLOATING CLIP
(WESTERN STATES)

SFS-BUTYL SEALANT TAPE

5/8" 4 X 8 CDX TREATED PLYWOOD

2

M

S

P

P2

Z

Z1

3

4

5

6

C

C2

T

D

NOTE: METAL FRAME, STONE
VENEER,  AND CMU, BY OTHERS



1 1/4"

2"

1 1/4"

 DETAIL  -Z1-
18 GA. Z-GIRT

1/2"
JOINT

1"
PA

N
EL

2"
PO

LY
-IS

OZ1

2

@48" O.C.

22 GA. T-GROOVE  FLUSH
HORZ. WALL PANELS
(WESTERN STATES)
PRE-FINISHED

M

3 1 P2

24 GA. J-TRIM,
PRE-FINISHED
SEE DETAIL -D-

3"
F.V. 1 

1/
8"

F.
V.

1 1/2"
F.V.

1/2"

 DETAIL -D-
24 GA J-TRIM

COLOR: PRE-FINISHED
TO MATCH PANELS

24 GA. REVEAL
FLASHING,

PRE-FINISHED
SEE DETAIL -E-

8 5/8"
F.V.

1/2" 1/2"

CLOSED
HEM

 DETAIL -E-
24 GA REVEAL FLASHING

COLOR: PRE-FINISHED
TO MATCH PANELS

CLOSED
HEM

CLOSED
HEM

N.T.S.
REF. ARCH. DET.
SCALE = L/F =

1
D7

METAL PANEL PLAN 
DETAIL @ VERTICAL JOINT

D3/A-502
TBD

1"
PA

N
EL

2"
PO

LY
-IS

O

22 GA. T-GROOVE
FLUSH HORZ. WALL
PANELS
(WESTERN
STATES)
PRE-FINISHED

P2

M

Z1 1

2

@48" O.C.

3

5" F.
V.

5"
F.V.

1/
2"

1/2"

CLOSED
HEM

CLOSED
HEM

 DETAIL -F-
24 GA CORNER FLASHING

COLOR: PRE-FINISHED
TO MATCH PANELS

N.T.S.
REF. ARCH. DET.
SCALE = L/F =

2
D7

METAL PANEL PLAN 
DETAIL @ OUTSIDE CORNER

TBD
1
2
3
4

CHECKED

PROJ. MAN.

DRAWN

NO. REVISION / ISSUE DATE

PROJECT #

SCALE
AS SHOWN

SHEET

5
6

PR
O

G
R

ES
SI

VE
 R

O
O

FI
N

G
23

 N
or

th
 3

5t
h 

Av
en

ue
Ph

oe
ni

x 
AZ

  8
50

09
Ph

on
e 

 (6
02

) 2
78

-4
90

0

D7

PR
O

JE
C

T 
AD

D
R

ES
S

C
O

N
TR

AC
TO

R
:

AR
C

H
IT

EC
T:

FL
AG

ST
AF

F,
 A

Z 
86

00
1

21
6 

W
ES

T 
PH

O
EN

IX
 A

VE
.

PATTY P.

TONYA K.

H
D

R
 A

R
C

H
IT

EC
TU

R
E,

 IN
C

.

5102-3-043

M
O

U
N

TA
IN

 L
IN

E 
D

O
W

N
TO

W
N

LO
VE

N
 C

O
N

TR
AC

TI
N

G

C
O

N
N

EC
TI

O
N

 C
EN

TE
R

1

KEYNOTES:

#12 PANCAKE HEAD TYPE A

1/8" RIVET

#12-4 X 1" SELF DRILLER W/WASHER

#12 X 2" PANCAKE HEAD SD2

ZINC NAILIN TERMINATION FASTENER ZNI

1/4" - 14 X 7/8" LAP SCREW

30 MIL SELF-ADHERED HT
UNDERALYMENT SHARKSKIN ULTRA

SEALANT TREMCO VULKEM 116

POLY-ISO ROOF INSULATION (R-42) - 2
LAYERS OF 3.6" AT ROOF

POLY-ISO WALL INSULATION - 2.00
INCHES IN WALL

16 GA. Z-GIRT AT ROOF

18 GA.. Z-GIRT AT WALL - 2" TALL

STANDING SEAM FIXED LOCK CLIP
(WESTERN STATES)

STANDING SEAM FLOATING CLIP
(WESTERN STATES)

SFS-BUTYL SEALANT TAPE

5/8" 4 X 8 CDX TREATED PLYWOOD

2

M

S

P

P2

Z

Z1

3

4

5

6

C

C2

T

D

NOTE: METAL FRAME, STONE
VENEER,  AND CMU, BY OTHERS



N.T.S.
REF. ARCH. DET.
SCALE = L/F =

1
D8

SLIDING EAVE AT GUTTER
D2/A-511

TBD

2"

1/2"1/2"

DETAIL -J-
22 GA. GUTTER STRAPS
COLOR: PRE-FINISHED

SECTION A-A
22 GA. GUTTER STRAPS

A
A

6"

6"

1/4"

CLEARANCE FOR

THERMAL EXPANSION

4"
F.V.

6"
F.V.

6" F.
V. 1" F.
V.

1"
F.V.

24 GA. MS2 STANDING
SEAM ROOF PANELS
(WESTERN STATES)
PRE-FINISHED

1

MC2

D

24 GA EAVE
FLASHING,
PRE-FINISHED
SEE DETAIL -K-

(1) 3/8" BEAD OF NON-SKINNING
BUTYL SEALANT APPLIED ON
SIDEWALL OF PANEL & TIED

 INTO TAPE SEALANT 8"

MAX.

1 1/2"

2"

PAN
EL

5/8"

TR
EATED

PLYW
O

O
D

3.6"

PO
LY-ISO

(R
-42)

3.6"

PO
LY-ISO

(R
-42)

4"
F.V.

7 
3/

4"
F.

V.
4"

F.V.

 DETAIL  -Z-
16 GA Z-GIRT

4
24 GA. FASCIA,
PRE-FINISHED

SEE DETAIL -H-

1 
1/

2"
F.

V.

5/8"

 DETAIL -G-
24 GA CLEAT

COLOR: PRE-FINISHED
TO MATCH PANEL

24 GA. CLEAT,
PRE-FINISHED

SEE DETAIL -G-

11
"

F.
V.

1/2
"

F.V
.

 DETAIL -H-
24 GA FASCIA WRAP

COLOR: PRE-FINISHED
TO MATCH PANEL

8" F.
V.

2 3/8"

F.V.
1/2"

 DETAIL -I-
24 GA GUTTER

COLOR: PRE-FINISHED
TO MATCH PANEL

2"
F.V.

2

24 GA. GUTTER,
PRE-FINISHED
SEE DETAIL -I-

24 GA. GUTTER
STRAPS,

PRE-FINISHED
SEE DETAIL -J-

6 5/8"
F.V.

2 
5/

8"
F.

V.

13
/1

6"
F.

V.

1/2"
F.V.

10
5.0

°
F.

V.

2 5/8"

F.V.2 7/16"

F.V.

1 5/8"

F.V.

2" F.
V.

77°F.V.

1/2
"

F.V.

5/16"

F.V.

5 7/16"

F.V.

 DETAIL -K-
24 GA EAVE FLASHING
COLOR: PRE-FINISHED

TO MATCH PANEL

OPEN
HEM

CLOSED
HEM

CLOSED
HEM

Z

P

1
2
3
4

CHECKED

PROJ. MAN.

DRAWN

NO. REVISION / ISSUE DATE

PROJECT #

SCALE
AS SHOWN

SHEET

5
6

PR
O

G
R

ES
SI

VE
 R

O
O

FI
N

G
23

 N
or

th
 3

5t
h 

Av
en

ue
Ph

oe
ni

x 
AZ

  8
50

09
Ph

on
e 

 (6
02

) 2
78

-4
90

0

D8

PR
O

JE
C

T 
AD

D
R

ES
S

C
O

N
TR

AC
TO

R
:

AR
C

H
IT

EC
T:

FL
AG

ST
AF

F,
 A

Z 
86

00
1

21
6 

W
ES

T 
PH

O
EN

IX
 A

VE
.

PATTY P.

TONYA K.

H
D

R
 A

R
C

H
IT

EC
TU

R
E,

 IN
C

.

5102-3-043

M
O

U
N

TA
IN

 L
IN

E 
D

O
W

N
TO

W
N

LO
VE

N
 C

O
N

TR
AC

TI
N

G

C
O

N
N

EC
TI

O
N

 C
EN

TE
R

1

KEYNOTES:

#12 PANCAKE HEAD TYPE A

1/8" RIVET

#12-4 X 1" SELF DRILLER W/WASHER

#12 X 2" PANCAKE HEAD SD2

ZINC NAILIN TERMINATION FASTENER ZNI

1/4" - 14 X 7/8" LAP SCREW

30 MIL SELF-ADHERED HT
UNDERALYMENT SHARKSKIN ULTRA

SEALANT TREMCO VULKEM 116

POLY-ISO ROOF INSULATION (R-42) - 2
LAYERS OF 3.6" AT ROOF

POLY-ISO WALL INSULATION - 2.00
INCHES IN WALL

16 GA. Z-GIRT AT ROOF

18 GA.. Z-GIRT AT WALL - 2" TALL

STANDING SEAM FIXED LOCK CLIP
(WESTERN STATES)

STANDING SEAM FLOATING CLIP
(WESTERN STATES)

SFS-BUTYL SEALANT TAPE

5/8" 4 X 8 CDX TREATED PLYWOOD

2

M

S

P

P2

Z

Z1

3

4

5

6

C

C2

T

D

NOTE: STRUCTURAL
FRAMING, BY OTHERS



2"
TA

BS

N.T.S.
REF. ARCH. DET.
SCALE = L/F =

1
D9

DOWNSPOUT
BASE DETAIL

SPLASH BLOCK,
BY OTHERS

24 GA. x 4" x 4"
DOWNSPOUTS,
PRE-FINISHED

SEALANT BEAD
AT CORNER LAP

4"

2

5
24 GA. DOWNSPOUTS
BRACKETS,
PRE-FINISHED
SEE DETAIL 3/D9

1"

DOWNSPOUT BASE
ISO. VIEW

N.T.S.

2
D9

S

4"

4"

N.T.S.
REF. ARCH. DET.
SCALE = L/F =

2
D9

DOWNSPOUT DETAIL

2"
2"

24 GA. DOWNSPOUTS,
PRE-FINISHED

2 5

24 GA. DOWNSPOUTS
BRACKETS,

PRE-FINISHED

1 
1/

2"
BR

AC
KE

TS

1/
2"

O
PE

N
H

EM

1 
1/

2"

1/
2"

O
PE

N
H

EM

INSIDE
FILLER

N.T.S.
REF. ARCH. DET.
SCALE = L/F =

3
D9

DOWNSPOUTS BRACKET DETAILS
TBD

24 GA.  DOWNSPOUT
BRACKETS

PRE-FINISHED

2

1
2
3
4

CHECKED

PROJ. MAN.

DRAWN

NO. REVISION / ISSUE DATE

PROJECT #

SCALE
AS SHOWN

SHEET

5
6

PR
O

G
R

ES
SI

VE
 R

O
O

FI
N

G
23

 N
or

th
 3

5t
h 

Av
en

ue
Ph

oe
ni

x 
AZ

  8
50

09
Ph

on
e 

 (6
02

) 2
78

-4
90

0

D9

PR
O

JE
C

T 
AD

D
R

ES
S

C
O

N
TR

AC
TO

R
:

AR
C

H
IT

EC
T:

FL
AG

ST
AF

F,
 A

Z 
86

00
1

21
6 

W
ES

T 
PH

O
EN

IX
 A

VE
.

PATTY P.

TONYA K.

H
D

R
 A

R
C

H
IT

EC
TU

R
E,

 IN
C

.

5102-3-043

M
O

U
N

TA
IN

 L
IN

E 
D

O
W

N
TO

W
N

LO
VE

N
 C

O
N

TR
AC

TI
N

G

C
O

N
N

EC
TI

O
N

 C
EN

TE
R

1

KEYNOTES:

#12 PANCAKE HEAD TYPE A

1/8" RIVET

#12-4 X 1" SELF DRILLER W/WASHER

#12 X 2" PANCAKE HEAD SD2

ZINC NAILIN TERMINATION FASTENER ZNI

1/4" - 14 X 7/8" LAP SCREW

30 MIL SELF-ADHERED HT
UNDERALYMENT SHARKSKIN ULTRA

SEALANT TREMCO VULKEM 116

POLY-ISO ROOF INSULATION (R-42) - 2
LAYERS OF 3.6" AT ROOF

POLY-ISO WALL INSULATION - 2.00
INCHES IN WALL

16 GA. Z-GIRT AT ROOF

18 GA.. Z-GIRT AT WALL - 2" TALL

STANDING SEAM FIXED LOCK CLIP
(WESTERN STATES)

STANDING SEAM FLOATING CLIP
(WESTERN STATES)

SFS-BUTYL SEALANT TAPE

5/8" 4 X 8 CDX TREATED PLYWOOD

2

M

S

P

P2

Z

Z1

3

4

5

6

C

C2

T

D

NOTE: STRUCTURAL
FRAMING, BY OTHERS



RO
UN

D 
PE

NE
TR

AT
IO

N

4"  MIN.

UNDER NO CIRCUMSTANCES
CAN THE PIPE PENETRATE

OR COME WITHIN 4" OF THE
PANEL SEAM.

STAINLESS STEEL
CLAMPING RING
(SEE NOTES)

1/4 - 14 x 3/4" SELF TAPPING SCREWS
W/ NEO WASHER @ 2" MAX. O.C.

PRE-MOLDED PIPE FLASHING w/ ALUMINUM BASE
SET IN CONT. BEAD OF URETHANE SEALANT

FIELD FABRICATED
METAL HOOD BY

OTHERS (OPTIONAL)

AP SEALANT OR
HIGH GRADE SEALANT

CONTINUOUS BEAD
OF LAP SEALANT

9.

NOTES:
4.

REMOVE ALL EXISTING FLASHINGS, LEADS, ETC.5.
PIPE SURFACE MUST BE FREE OF ALL RUST,
GREASE, INSULATION, ETC.
PIPE MUST BE ANCHORED TO ENSURE STABILITY.6.
PRE-MOLDED PIPE FLASHING MAY BE CUT TO7.
HEIGHT, BUT NO LOWER THAN REINFORCING
RING ( NO WRINKLES OR FOLDS UNDER
CLAMPING RING).
APPLY LAP SEALANT BETWEEN PENETRATION8.
AND PRE-MOLDED PIPE FLASHING PRIOR TO
INSTALLATION OF CLAMPING RING.

CUT HOLE IN DECK & PANEL WITH ADEQUATE PIPE 
CLEARANCE TO ALLOW THERMAL EXPANSION.

10.

DO NOT USE WHEN SERVICE LINE TEMP.
EXCEEDS 180°F. 

11.

PIPE SHOULD EXTEND A MINIMUM OF 8"
ABOVE ROOF SURFACE.
WHERE SNOW AND ICE ARE COMMON, AN RMP  
APPROVED ICE/SNOW-DAM PROTECTION SYSTEM 
IS REQUIRED NO MORE THAN 36" UP-SLOPE OF
ALL PENETRATIONS.

HOLE CUT INTO ROOF PANEL W/RIBS & DECK
W/ ADEQUATE CLEARANCE TO ALLOW
FOR THERMAL MOVEMENT

2"
PA

N
EL

N.T.S.
REF. ARCH. DET.
SCALE = L/F =

1
D10

CUT HOLE IN LARGE PANEL 
AND PIPE PENETRATION DETAIL

D1/A-511
TBD

ROOF PIPE PENETRATION
OF 4" Ø OR LESS,
BY OTHERS

1

NOTES:
 1.  CUT HOLE TO ALLOW FOR THERMAL MOVEMENT IF
      PANELS ARE 30'-0" OR LONGER.
 2.  IF PIPE IS MADE OF METAL, IT MUST BE PAINTED TO
      PREVENT RUST RUN-OFF FROM STAINING PANELS.
      (PIPE AND PAINTED BY OTHERS)
 3. POSITIONS SQUARE BASED BOOTS IN A DIAMOND
     ORIENTATION WHERE POSSIBLE TO AID IN DIVERTING WATER.

CUT PANEL 1" SMALLER THAN
 PENETRATION, BACK CUT TABS,

FOLD TABS UP AROUND ROOF
PENETRATION, AND CAULK

MS2 @ 180°
STANDING SEAM PANEL

(WESTERN STATES)
PRE-FINISHED

C 1CMD

5/
8"

"
TR

EA
TE

D
PL

YW
O

O
D

P P

1
2
3
4

CHECKED

PROJ. MAN.

DRAWN

NO. REVISION / ISSUE DATE

PROJECT #

SCALE
AS SHOWN

SHEET

5
6

PR
O

G
R

ES
SI

VE
 R

O
O

FI
N

G
23

 N
or

th
 3

5t
h 

Av
en

ue
Ph

oe
ni

x 
AZ

  8
50

09
Ph

on
e 

 (6
02

) 2
78

-4
90

0

D10

PR
O

JE
C

T 
AD

D
R

ES
S

C
O

N
TR

AC
TO

R
:

AR
C

H
IT

EC
T:

FL
AG

ST
AF

F,
 A

Z 
86

00
1

21
6 

W
ES

T 
PH

O
EN

IX
 A

VE
.

PATTY P.

TONYA K.

H
D

R
 A

R
C

H
IT

EC
TU

R
E,

 IN
C

.

5102-3-043

M
O

U
N

TA
IN

 L
IN

E 
D

O
W

N
TO

W
N

LO
VE

N
 C

O
N

TR
AC

TI
N

G

C
O

N
N

EC
TI

O
N

 C
EN

TE
R

1

KEYNOTES:

#12 PANCAKE HEAD TYPE A

1/8" RIVET

#12-4 X 1" SELF DRILLER W/WASHER

#12 X 2" PANCAKE HEAD SD2

ZINC NAILIN TERMINATION FASTENER ZNI

1/4" - 14 X 7/8" LAP SCREW

30 MIL SELF-ADHERED HT
UNDERALYMENT SHARKSKIN ULTRA

SEALANT TREMCO VULKEM 116

POLY-ISO ROOF INSULATION (R-42) - 2
LAYERS OF 3.6" AT ROOF

POLY-ISO WALL INSULATION - 2.00
INCHES IN WALL

16 GA. Z-GIRT AT ROOF

18 GA.. Z-GIRT AT WALL - 2" TALL

STANDING SEAM FIXED LOCK CLIP
(WESTERN STATES)

STANDING SEAM FLOATING CLIP
(WESTERN STATES)

SFS-BUTYL SEALANT TAPE

5/8" 4 X 8 CDX TREATED PLYWOOD

2

M

S

P

P2

Z

Z1

3

4

5

6

C

C2

T

D

NOTE: STRUCTURAL
FRAMING, BY OTHERS



N.T.S.
REF. ARCH. DET.
SCALE = L/F =

1
D11

STANDING SEAM AT ROOF PEAK
TBD

5

SECTION A-A 3/16" X 7/8"
BUTYL TAPE

INSTALLATION NOTE: CLOSE HEM
OF PANELS WITH DUCK BILLS TO
ALLOW NOTCHED ZEE CLOSURE
TO FIT TIGHTLY TO PANEL

NON-SKINNING BUTYL
 SEALANT APPLIED TO

 ENDS OF ZEE CLOSURE

FIELD NOTCH
ZEE CLOSURE

AT RIB

24 GA. FASCIA,
PRE-FINISHED
SEE DETAIL -H-

24 GA. CLEAT,
PRE-FINISHED
SEE DETAIL -G-

2"
PAN

EL

A

5/8"
TR

EATED
PLYW

O
O

D

90° HAND
CRIMP 10"

180°

W/ELECTRIC
SEAMER

3.6"
PO

LY-ISO
3.6"

PO
LY-ISO

24 GA. MS2 STANDING
SEAM ROOF PANELS
(WESTERN STATES)

PRE-FINISHED

1

1M CD 2

ZEE SUPPORT
3/4" TURN UP
24 GA. HIGH EAVE
TRIM, PRE-FINISHED
SEE DETAIL -L-

1"

1 1/4"

1 1/4"

 ZEE SUPPORT

 DETAIL -A-
24 GA TRIM

COLOR: PRE-FINISHED
TO MATCH PANELS

1"
F.V.

2" F.
V.

1/
2" CLOSED

HEM

1 1/4"

2"

1 1/4"

 DETAIL  -Z1-
18 GA. Z-GIRT

4"
F.V.

7 
3/

4"
F.

V.

4"
F.V.

 DETAIL  -Z-
16 GA Z-GIRT1 

1/
2"

F.
V.

5/8"

 DETAIL -G-
24 GA CLEAT

COLOR: PRE-FINISHED
TO MATCH PANEL

11
"

F.
V.

1/2
"

F.V
.

 DETAIL -H-
24 GA FASCIA WRAP

COLOR: PRE-FINISHED
TO MATCH PANEL

5 5/8"
F.V.

6" F.
V.

1/2"

CLOSED
HEM

OPEN
HEM

CLOSED
HEM

 DETAIL -L-
24 GA HIGH EAVE

COLOR: PRE-FINISHED
TO MATCH PANEL

A

Z

IN
ST

AL
LA

TI
O

N
 D

IR
EC

TI
O

N
24 GA. TRIM,
PRE-FINISHED
SEE DETAIL -A-2

1"
PANEL

22 GA. T-GROOVE  FLUSH
HORZ. WALL PANELS
(WESTERN STATES)
PRE-FINISHED

2"
POLY-ISO

M

1

P2

Z1 @ 48" O.C.

T.O. UPPER SLOPE ROOF
34'-9"

3

ZEE SUPPORT

P

4

1
2
3
4

CHECKED

PROJ. MAN.

DRAWN

NO. REVISION / ISSUE DATE

PROJECT #

SCALE
AS SHOWN

SHEET

5
6

PR
O

G
R

ES
SI

VE
 R

O
O

FI
N

G
23

 N
or

th
 3

5t
h 

Av
en

ue
Ph

oe
ni

x 
AZ

  8
50

09
Ph

on
e 

 (6
02

) 2
78

-4
90

0

D11

PR
O

JE
C

T 
AD

D
R

ES
S

C
O

N
TR

AC
TO

R
:

AR
C

H
IT

EC
T:

FL
AG

ST
AF

F,
 A

Z 
86

00
1

21
6 

W
ES

T 
PH

O
EN

IX
 A

VE
.

PATTY P.

TONYA K.

H
D

R
 A

R
C

H
IT

EC
TU

R
E,

 IN
C

.

5102-3-043

M
O

U
N

TA
IN

 L
IN

E 
D

O
W

N
TO

W
N

LO
VE

N
 C

O
N

TR
AC

TI
N

G

C
O

N
N

EC
TI

O
N

 C
EN

TE
R

1

KEYNOTES:

#12 PANCAKE HEAD TYPE A

1/8" RIVET

#12-4 X 1" SELF DRILLER W/WASHER

#12 X 2" PANCAKE HEAD SD2

ZINC NAILIN TERMINATION FASTENER ZNI

1/4" - 14 X 7/8" LAP SCREW

30 MIL SELF-ADHERED HT
UNDERALYMENT SHARKSKIN ULTRA

SEALANT TREMCO VULKEM 116

POLY-ISO ROOF INSULATION (R-42) - 2
LAYERS OF 3.6" AT ROOF

POLY-ISO WALL INSULATION - 2.00
INCHES IN WALL

16 GA. Z-GIRT AT ROOF

18 GA.. Z-GIRT AT WALL - 2" TALL

STANDING SEAM FIXED LOCK CLIP
(WESTERN STATES)

STANDING SEAM FLOATING CLIP
(WESTERN STATES)

SFS-BUTYL SEALANT TAPE

5/8" 4 X 8 CDX TREATED PLYWOOD

2

M

S

P

P2

Z

Z1

3

4

5

6

C

C2

T

D

NOTE: STRUCTURAL
FRAMING, BY OTHERS



2"
PA

N
EL

D
EP

TH
M

Z

D

C

22 PER
CLIP

T 2

24 GA. GABLE TRIM
SEE DETAIL -L-

24 GA. CLEAT
PRE-FINISHED

SEE DETAIL -G-

1

24 GA. MS2 STANDING
SEAM PANEL @ 18" O.C.
(WESTERN STATES)
PRE-FINISHED

1" M
IN

24 GA. FASCIA,
PRE-FINISHED

SEE DETAIL -H-

5/
8"

TR
EA

TE
D

PL
YW

O
O

D

3.
6"

PO
LY

-IS
O

3.
6"

PO
LY

-IS
O

4"
F.V.

7 
3/

4"
F.

V.
4"

F.V.

 DETAIL  -Z-
16 GA Z-GIRT

1 
1/

2"
F.

V.

5/8"

 DETAIL -G-
24 GA CLEAT

COLOR: PRE-FINISHED
TO MATCH PANEL

11
"

F.
V.

1/2
"

F.V
.

 DETAIL -H-
24 GA FASCIA WRAP

COLOR: PRE-FINISHED
TO MATCH PANEL

2 1/2"
F.V.

6" F.
V.

1/2"

CLOSED
HEM

OPEN
HEM

 DETAIL -L-
24 GA GABLE TRIM

COLOR: PRE-FINISHED
TO MATCH PANEL

P

4

N.T.S.
REF. ARCH. DET.
SCALE = L/F =

1
D12

STANDING SEAM DETAIL
C5/A-511

TBD

FIELD CUT AND BEND
PANEL UP 1-1/2"

2" F.
V.

22 GA. GALV. C-POCKET
SEE DETAIL -Q-

2" F.
V.

2"
F.V.

4"
F.V.

 DETAIL  -Q-
22 GA. GALV. C-POCKET

1
2
3
4

CHECKED

PROJ. MAN.

DRAWN

NO. REVISION / ISSUE DATE

PROJECT #

SCALE
AS SHOWN

SHEET

5
6

PR
O

G
R

ES
SI

VE
 R

O
O

FI
N

G
23

 N
or

th
 3

5t
h 

Av
en

ue
Ph

oe
ni

x 
AZ

  8
50

09
Ph

on
e 

 (6
02

) 2
78

-4
90

0

D12

PR
O

JE
C

T 
AD

D
R

ES
S

C
O

N
TR

AC
TO

R
:

AR
C

H
IT

EC
T:

FL
AG

ST
AF

F,
 A

Z 
86

00
1

21
6 

W
ES

T 
PH

O
EN

IX
 A

VE
.

PATTY P.

TONYA K.

H
D

R
 A

R
C

H
IT

EC
TU

R
E,

 IN
C

.

5102-3-043

M
O

U
N

TA
IN

 L
IN

E 
D

O
W

N
TO

W
N

LO
VE

N
 C

O
N

TR
AC

TI
N

G

C
O

N
N

EC
TI

O
N

 C
EN

TE
R

1

KEYNOTES:

#12 PANCAKE HEAD TYPE A

1/8" RIVET

#12-4 X 1" SELF DRILLER W/WASHER

#12 X 2" PANCAKE HEAD SD2

ZINC NAILIN TERMINATION FASTENER ZNI

1/4" - 14 X 7/8" LAP SCREW

30 MIL SELF-ADHERED HT
UNDERALYMENT SHARKSKIN ULTRA

SEALANT TREMCO VULKEM 116

POLY-ISO ROOF INSULATION (R-42) - 2
LAYERS OF 3.6" AT ROOF

POLY-ISO WALL INSULATION - 2.00
INCHES IN WALL

16 GA. Z-GIRT AT ROOF

18 GA.. Z-GIRT AT WALL - 2" TALL

STANDING SEAM FIXED LOCK CLIP
(WESTERN STATES)

STANDING SEAM FLOATING CLIP
(WESTERN STATES)

SFS-BUTYL SEALANT TAPE

5/8" 4 X 8 CDX TREATED PLYWOOD

2

M

S

P

P2

Z

Z1

3

4

5

6

C

C2

T

D

NOTE: STRUCTURAL
FRAMING, BY OTHERS



8"
MAX.

1 1/2" 2"
PAN

EL 5/8"
TR

EATED
PLYW

O
O

D
3.6"

PO
LY-ISO

(R
-42)

3.6"
PO

LY-ISO
(R

-42)

10"
1'-0"

1'-0"

N.T.S.
REF. ARCH. DET.
SCALE = L/F =

1
D13

STANDING SEAM ROOF PANEL
SECTION  AT SOLATUBE DETAIL

90° HAND
CRIMP 10"

180°

W/ELECTRIC
SEAMER

24 GA. MS2 STANDING
SEAM ROOF PANELS
(WESTERN STATES)

PRE-FINISHED

1

M

C

D

2

Z

P

SOLATUBE

SOLATUBE CURB,
BY OTHERS

S FIELD NOTCH AND
BEND PANEL FACE UP
1 1/2" MIN. CAULK
VERTICALS W/NON-
SKINNING SEALANT

HAT SUPPORT
 & FASTENERS

NOTCHED ZEE
CLOSURE SET IN

NON-SKINNING
SEALANT (SEE

FASTENER
SEQUENCE)

S

24 GA. BACK
WALL FLASHING

PREFINISHED
SEE DETAIL -M-

 DETAIL -M-
24 GA BACK WALL FLASHING

COLOR: PRE-FINISHED
TO MATCH PANEL

1 
1/

2"
F.

V.

1"

5 5/8"
F.V.

1"
TABS1"

TABS

4

24 GA. FRONT
CRICKET FLASHING
PRE-FINISHED

3.6"
PO

LY-ISO
(R

-42)

3.6"
PO

LY-ISO
(R

-42)5/8"
TR

EATED
PLYW

O
O

D

2"
PAN

EL

C

Z 4

24 GA. MS2 STANDING
SEAM ROOF PANELS
(WESTERN STATES)
PRE-FINISHED

FIELD
 D

IM

(1) 3/8" BEAD OF NON-SKINNING
BUTYL SEALANT APPLIED ON
SIDEWALL OF PANEL & TIED

 INTO TAPE SEALANT

SCALED UP 1.5X

1" MIN.  FIELD NOTCH &
 HEMMED PANEL @ CLEAT,

ALLOW CLEARANCE FOR
THERMAL EXPANSION

OFFSET JOGGLE
CLEAT SET IN
 BUTYL TAPE

MIN. 6" WIDE
SELF-ADHERING
UNDERLAYMENT

1

M

SCALED UP 1.5X

11"
F.V.

11"
F.V.FIELD DIM

4"
F.V.

1
2
3
4

CHECKED

PROJ. MAN.

DRAWN

NO. REVISION / ISSUE DATE

PROJECT #

SCALE
AS SHOWN

SHEET

5
6

PR
O

G
R

ES
SI

VE
 R

O
O

FI
N

G
23

 N
or

th
 3

5t
h 

Av
en

ue
Ph

oe
ni

x 
AZ

  8
50

09
Ph

on
e 

 (6
02

) 2
78

-4
90

0

D13

PR
O

JE
C

T 
AD

D
R

ES
S

C
O

N
TR

AC
TO

R
:

AR
C

H
IT

EC
T:

FL
AG

ST
AF

F,
 A

Z 
86

00
1

21
6 

W
ES

T 
PH

O
EN

IX
 A

VE
.

PATTY P.

TONYA K.

H
D

R
 A

R
C

H
IT

EC
TU

R
E,

 IN
C

.

5102-3-043

M
O

U
N

TA
IN

 L
IN

E 
D

O
W

N
TO

W
N

LO
VE

N
 C

O
N

TR
AC

TI
N

G

C
O

N
N

EC
TI

O
N

 C
EN

TE
R

1

KEYNOTES:

#12 PANCAKE HEAD TYPE A

1/8" RIVET

#12-4 X 1" SELF DRILLER W/WASHER

#12 X 2" PANCAKE HEAD SD2

ZINC NAILIN TERMINATION FASTENER ZNI

1/4" - 14 X 7/8" LAP SCREW

30 MIL SELF-ADHERED HT
UNDERALYMENT SHARKSKIN ULTRA

SEALANT TREMCO VULKEM 116

POLY-ISO ROOF INSULATION (R-42) - 2
LAYERS OF 3.6" AT ROOF

POLY-ISO WALL INSULATION - 2.00
INCHES IN WALL

16 GA. Z-GIRT AT ROOF

18 GA.. Z-GIRT AT WALL - 2" TALL

STANDING SEAM FIXED LOCK CLIP
(WESTERN STATES)

STANDING SEAM FLOATING CLIP
(WESTERN STATES)

SFS-BUTYL SEALANT TAPE

5/8" 4 X 8 CDX TREATED PLYWOOD

2

M

S

P

P2

Z

Z1

3

4

5

6

C

C2

T

D

NOTE: STRUCTURAL
FRAMING, BY OTHERS



SCALED UP 2X

N.T.S.
REF. ARCH. DET.
SCALE = L/F =

1
D14

CRICKET VALLEY 
TBD

4" F.
V.

10"
F.V.

FIELD DIM.

1'
-0

"

3"
TABS

3'-10"
F.V.

2'
-0

"

SLOPE SLOPE

SL
O

PE

SL
O

PE

3"
6"

1'
-0

"

1 #10 X 1"
PANCAKE HEAD

6

T

2 
1/

8"
TA

BS

24 GA. SIDE WALL FLASHING
SEE DETAIL -N-

6

1 #10 X 1"
PANCAKE HEAD

SEALANT BEAD
AT CORNER LAP

10"
F.V.

3" F.
V.

1/2"

1"
TAB

CLOSED
HEM DETAIL -N-

24 GA. SIDE WALL FLASHING
COLOR: PRE-FINISHED

TO MATCH PANEL

DETAIL -P-
24 GA. GALV CLEAT

NOTE: NO PROTECTION
BOARD,COORDINATE

FASTENERS WITH
DECK RIDGES.

24 GA. MS2 STANDING
SEAM ROOF PANELS
(WESTERN STATES)
PRE-FINISHED

MS2 @ 180°
STANDING SEAM PANEL

(WESTERN STATES)
PRE-FINISHED

10"
F.V.

1 1/2"
F.V.

7/
8"

F.
V.

2 
3/

8"
F.

V.

2"
F.V.

1 7/8"
F.V.

5/8"
F.V.

5/
16

"
F.

V.

2"
PA

N
EL

2"
PA

N
EL

APPLY A DOUBLE BEADED BUTYL-TAPE BEHIND
CRICKET FLANGE, SECURE INTO EQUIPMENT
CURB (3" O.C.) USING A GASKETED S.S.
FASTENERS AND INSTALL A CONTINUOUS BEAD
OF BUTLY SEALANT AT TOP EDGE.

2

24 GA. GALV CLEAT
SEE DETAIL -P-

EQ.EQ.

TUBE FLANGE
AND CAP
W/FASTENERS
BY OTHERS

1

2"

2"

FIELD BEND
 PANEL
EDGE UP
1 3/4" MIN.

M

D

5/
8"

TR
EA

TE
D

PL
YW

O
O

D

P

SOLATUBE

SOLATUBE CURB,
BY OTHERS

1
2
3
4

CHECKED

PROJ. MAN.

DRAWN

NO. REVISION / ISSUE DATE

PROJECT #

SCALE
AS SHOWN

SHEET

5
6

PR
O

G
R

ES
SI

VE
 R

O
O

FI
N

G
23

 N
or

th
 3

5t
h 

Av
en

ue
Ph

oe
ni

x 
AZ

  8
50

09
Ph

on
e 

 (6
02

) 2
78

-4
90

0

D14

PR
O

JE
C

T 
AD

D
R

ES
S

C
O

N
TR

AC
TO

R
:

AR
C

H
IT

EC
T:

FL
AG

ST
AF

F,
 A

Z 
86

00
1

21
6 

W
ES

T 
PH

O
EN

IX
 A

VE
.

PATTY P.

TONYA K.

H
D

R
 A

R
C

H
IT

EC
TU

R
E,

 IN
C

.

5102-3-043

M
O

U
N

TA
IN

 L
IN

E 
D

O
W

N
TO

W
N

LO
VE

N
 C

O
N

TR
AC

TI
N

G

C
O

N
N

EC
TI

O
N

 C
EN

TE
R

1

KEYNOTES:

#12 PANCAKE HEAD TYPE A

1/8" RIVET

#12-4 X 1" SELF DRILLER W/WASHER

#12 X 2" PANCAKE HEAD SD2

ZINC NAILIN TERMINATION FASTENER ZNI

1/4" - 14 X 7/8" LAP SCREW

30 MIL SELF-ADHERED HT
UNDERALYMENT SHARKSKIN ULTRA

SEALANT TREMCO VULKEM 116

POLY-ISO ROOF INSULATION (R-42) - 2
LAYERS OF 3.6" AT ROOF

POLY-ISO WALL INSULATION - 2.00
INCHES IN WALL

16 GA. Z-GIRT AT ROOF

18 GA.. Z-GIRT AT WALL - 2" TALL

STANDING SEAM FIXED LOCK CLIP
(WESTERN STATES)

STANDING SEAM FLOATING CLIP
(WESTERN STATES)

SFS-BUTYL SEALANT TAPE

5/8" 4 X 8 CDX TREATED PLYWOOD

2

M

S

P

P2

Z

Z1

3

4

5

6

C

C2

T

D

NOTE: STRUCTURAL
FRAMING, BY OTHERS



SLOPE

1'-2"
F.V.

2"
FR

AM
E,

 B
Y

O
TH

ER
S

3/
4"

4"
C

O
PI

N
G

 C
AP

,
F.

V.

FIELD CRIMP

4"
C

O
PI

N
G

C
AP

, F
.V

.

COPING CAP
FIELD DIM

22 GA-10-FC
22 GA. GALV.
CONTINUOUS
FRONT CLEAT

24 GA-01-SPLICE
24 GA.  8" SPLICE
 PLATE AT ALL END
 JOINTS TYP.

24 GA-01-CAP
24 GA. COPING CAP,
PRE-FINISHED

M

1

22 GA-10-BC
22 GA. GALV.

CONTINUOUS
BACK CLEAT

@ 12" O.C.

N.T.S.
REF. ARCH. DET.
SCALE = L/F =

1
D15

COPING CAP @ CURTAIN WALL PARAPET
D2/A-503

TBD 1
2
3
4

CHECKED

PROJ. MAN.

DRAWN

NO. REVISION / ISSUE DATE

PROJECT #

SCALE
AS SHOWN

SHEET

5
6

PR
O

G
R

ES
SI

VE
 R

O
O

FI
N

G
23

 N
or

th
 3

5t
h 

Av
en

ue
Ph

oe
ni

x 
AZ

  8
50

09
Ph

on
e 

 (6
02

) 2
78

-4
90

0

D15

PR
O

JE
C

T 
AD

D
R

ES
S

C
O

N
TR

AC
TO

R
:

AR
C

H
IT

EC
T:

FL
AG

ST
AF

F,
 A

Z 
86

00
1

21
6 

W
ES

T 
PH

O
EN

IX
 A

VE
.

PATTY P.

TONYA K.

H
D

R
 A

R
C

H
IT

EC
TU

R
E,

 IN
C

.

5102-3-043

M
O

U
N

TA
IN

 L
IN

E 
D

O
W

N
TO

W
N

LO
VE

N
 C

O
N

TR
AC

TI
N

G

C
O

N
N

EC
TI

O
N

 C
EN

TE
R

1

KEYNOTES:

#12 PANCAKE HEAD TYPE A

1/8" RIVET

#12-4 X 1" SELF DRILLER W/WASHER

#12 X 2" PANCAKE HEAD SD2

ZINC NAILIN TERMINATION FASTENER ZNI

1/4" - 14 X 7/8" LAP SCREW

30 MIL SELF-ADHERED HT
UNDERALYMENT SHARKSKIN ULTRA

SEALANT TREMCO VULKEM 116

POLY-ISO ROOF INSULATION (R-42) - 2
LAYERS OF 3.6" AT ROOF

POLY-ISO WALL INSULATION - 2.00
INCHES IN WALL

16 GA. Z-GIRT AT ROOF

18 GA.. Z-GIRT AT WALL - 2" TALL

STANDING SEAM FIXED LOCK CLIP
(WESTERN STATES)

STANDING SEAM FLOATING CLIP
(WESTERN STATES)

SFS-BUTYL SEALANT TAPE

5/8" 4 X 8 CDX TREATED PLYWOOD

2

M

S

P

P2

Z

Z1

3

4

5

6

C

C2

T

D

NOTE: STRUCTURAL
FRAMING, AND GLAZED
FRAMING, BY OTHERS


	Sheets and Views
	5102-3-043 Downtown Connection-CS
	5102-3-043 Downtown Connection-F1
	5102-3-043 Downtown Connection-F2
	5102-3-043 Downtown Connection-F3
	5102-3-043 Downtown Connection-R1
	5102-3-043 Downtown Connection-R2
	5102-3-043 Downtown Connection-E1
	5102-3-043 Downtown Connection-E2
	5102-3-043 Downtown Connection-E3
	5102-3-043 Downtown Connection-B1
	5102-3-043 Downtown Connection-B2
	5102-3-043 Downtown Connection-W1
	5102-3-043 Downtown Connection-W2
	5102-3-043 Downtown Connection-D1
	5102-3-043 Downtown Connection-D2
	5102-3-043 Downtown Connection-D3
	5102-3-043 Downtown Connection-D4
	5102-3-043 Downtown Connection-D5
	5102-3-043 Downtown Connection-D6
	5102-3-043 Downtown Connection-D7
	5102-3-043 Downtown Connection-D8
	5102-3-043 Downtown Connection-D9
	5102-3-043 Downtown Connection-D10
	5102-3-043 Downtown Connection-D11
	5102-3-043 Downtown Connection-D12
	5102-3-043 Downtown Connection-D13
	5102-3-043 Downtown Connection-D14
	5102-3-043 Downtown Connection-D15


